H o ¥ b= = B/EX BB KX
Ri€EHE E=E 7= F — REE | —RiEE  REE | —REE  REE | RS
%E’I’%% @) 41 24 32 14 38 11
@ 6 8 8 7 47 25
- w ® 15 5 9 5 3 3
U/i\% T%u%% Tﬂ’iﬁm ® E 10 5 3 3 1
Bef#k 631 | EeAZX 331 ESH#X 300 ® 18 3 3 - i :
[EURER 396 [EURER 266 [EIVER 130 == 8
[EUNE  62.8% [EINE  80.4% [EIINEK = 43.3% &5t 396
ES REHE —Rits AF
O HOMEMICEATHIY ICHFH-ATHEBAL, INHES/NEREVBIFEREZ &5 R ZH% 111 49 160
WIFNHIFET S
@ SN FERBHOED] ﬁ?fd&iﬂt%ﬁ%)\b BEOITHEEHE T, £ ZICHFEE/NER & BT o o i
FEREZELEEZHEZL. WINDFHET S
® MR /J\%&tET_L%ZEé.\?SEZ CHEE. HRETICRLDEHICWT N EFET B 27 14 41
@ Zoft 19 13 32
® ENTHREWL 40 14 54
EHAT V- =R - O20RHSE 8 (] 8
& F 266 130 396
gy X 7% = 10% =2
10% . @ 10% y @ 11%
® 41% 3% 37%
14% [© 16% |® 11%
26% 2EEH 4y 31%




